30.03.2017

r

Cummins QuickServe Online

“hs2ve

Online

KaTanor petanen - CBegeHus o BapuaHTe

Oon.
YCTPOKCTEO Mpynna PucyHok Kapra Oata
PR1oRse- 10.06 tu100gb FF 12-AUG-00
[evrateny G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14
MECHANICAL, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876 N102
MANbIN | CPEAHW | BONbLLOW
View My Cart

PP10088-06

TypGokoMnpeccop

HT60-N0881A/H36K1 Turbo for...
(More)

use on Industrial N14 engines

https://quickserve.cummins.com/qs3/portal/parts/option_detail.htm|?path=/qs 3/parts/99/ff/10.06/pp10088-06&header=false&print=true

13


https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('tu100gb','/rtgraphics/english/parts/tu/1/tu100gb_sm.png');
javascript:swap_img('tu100gb','/rtgraphics/english/parts/tu/1/tu100gb_md.png');
javascript:swap_img('tu100gb','/rtgraphics/english/parts/tu/1/tu100gb_lg.png');

30.03.2017 Cummins QuickServe Online
360-480 HP. Non-watercooled
bearing housing. CPL: 1921,
2287, 2403.
3804565 Turbocharger Kit 1 Recon equivalent 3804565 RX
3536803 Typ6okomnpeccop 1
3804924 Kit, V-Band Clamp For All HT60 Turbochargers
1 3529372 || Regular Hexagon Nut 1 1/4 - 28 UNF
2 3539458 || V Band Clamp 1 For All HT60 Turbochargers
3 3519155 Turbocharger Heat Shield 1
4 3519163 Drive Screw 4
5 3536075 Turbocharger Thrust Bearing 1
6 3536998 Turbine Housing 1
7 3529658 Oil Baffle 1
8 3519471 Lock Nut 1 7/16 - 20 UNF
9 3521439 Oil Slinger 1
10 3521440 Thrust Collar 1
11 3521441 Split Ring Seal 2
12 3521442 Split Ring Seal 1
13 3594952 Shaft Wheel Rotor 1
14 3527047 ;I;;J‘r)t;clnlzr;arger Compressor 1
15 3527907 MacnopTtHasi Tabnuuka 1
16 3532045 V Band Clamp 1
17 3536324 Typ6okomnpeccop
18 3536096 Turbocharger Bearing Housing 1
19 3709510 Retaining Ring 4
20 3718373 Retaining Ring 1
21 3722366 Turbocharger Bearing 2
22 3723863 Retaining Ring 1
23 3751948 O-Ring Seal 1
24 3757753 Oil Control Sleeve 1
25 3759618 Oil Seal Plate 1
26 3069177 Turbocharger Gasket 1

https://quickserve.cummins.com/qs3/portal/parts/option_detail.htmI?path=/qs3/parts/99/ff/10.06/pp10088-06&header=false&print=true

213



30.03.2017 Cummins QuickServe Online
27 3202117 Connection Gasket
29 3037537 O-Ring Seal
30 3056155 Double End Plain Stud
31 3056158 Hexagon Flange Nut 3/8 - 24 UNF
3803745 Turbocharger Repair Kit
29 3037537 O-Ring Seal
26 3069177 Turbocharger Gasket
27 3202117 Connection Gasket
2 3539458 V Band Clamp For All HT60 Turbochargers
11 3521441 Split Ring Seal
12 3521442 Split Ring Seal
1 3529372 Regular Hexagon Nut 1/4 - 28 UNF
16 3532045 V Band Clamp
5 3536075 Turbocharger Thrust Bearing
19 3709510 Retaining Ring
20 3718373 Retaining Ring
21 3722366 Turbocharger Bearing
22 3723863 Retaining Ring
23 3751948 O-Ring Seal
24 3757753 Oil Control Sleeve

https://quickserve.cummins.com/qs3/portal/parts/option_detail.htmI?path=/qs3/parts/99/ff/10.06/pp10088-06&header=false&print=true

3/3


https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

